WY 241 — 13/14 —TiPoosaoz— T

Ecnj = SEV\-{-'i] <= 2 M[Q—Z‘l>

QV{X[wﬂ = x[n] +x[-a] - B_E’l*_'] sula-2l+
2 2

+ 6f—n+ﬂ+ uc-'\-ZFJ
2
Od { )(("\1} — xfu)=xln] _ §fne] o [nc?) —
2 2

— Sf—n-ﬂ.‘ _ [_h_z’-}
X (Cnal 2

N 2 Q
Mo N22: A 2 Ixbal = 21— (1 +2(N—2)>
2N+t TN 2N+ |

2N +1 i
. LnErty = o0 !

= SXYOZ




}X({): 8V{Cos(njc)u(f)} [

- o iCOS(W 4) u(+) + cos (-m Hu(%)}
2

- os(it) — =22 =2
MerPcalke

Me
cosyu(t)
x‘,@}\/fvt
— | ——
(j&)rzx(cos(%)) |A.m—r\o\m

t=-n/2 = cos(®)=0

M
AiITIATO

En] =nx[2n] \\E\/ngeﬂm

‘Cotres xM]= uln] (@Pdn’iw) =

APA : Y (-n/2) = X (0) =

=5 8[m] = nul2n)= Nulyv) /‘w

e azmase D) |



x (k] _
/s ‘Yl<1 HEY\]‘O
1/9
R s i e %k
sty 'Y]7/i' K w-l k
A hln-k 1y -1 5(4)
11. e = 3["1551&5) 3 iewo”
%
: Yol _ 1=Us)
‘1/’{—-—— = b, 1 - 1/3
W/ ’—;h "
0413« _ oA fa-@) ]

T
zoNTAL TA - N ] u[n}

zynsvazonTa T8 L
o appaem iy | yIn)= AL 145)
o _’1—-(%’-3: o [ - -
_ [i ~(%) Xu{n—ﬂ
Tz
ol Z - ; "’cl ('{)
@(ci/‘j({) + 3dqt) Zt)@): Odl g O5x()
Jd-42 dt :
5 2, (A 37s
3.:-— ‘H“(S)- 35*‘5 - 3s5to = S+ i s=-3

= f_oSf-f— (e (312D

—| R = [zety &%) u(t)] w;

———




